Betriebsergebnisse 2010 - 2013
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GAR-Entnahme
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ErgebnisgroBe 2010 2011 2012 2013+ % Diff. z. Vj.
EUR %
Gesamtkosten 7.582.772 7.903.216 7.691.573 7.552.518] -139.055 -1,8
- Nebenertrage 703.558 1.131.447 951.183 972.321 21.139 2,2
= Gebiihrenbedarf 6.879.214 6.771.769 6.740.391 6.580.197| -160.194 -2,4
Gebiihreneinnahme 6.381.496 6.396.596 6.394.719 6.428.946 34.227 0,5
+ Entnahme aus der GAR 739.700 739.700 0 360.000 360.000
- Geblhrenbedarf 6.879.214 6.771.769 6.740.391 6.580.197| -160.194 -2,4
= Betriebsergebnis 241.982 364.527 -345.672 208.749 554.421  -160,4
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* ab dem Jahr 2013 wird ausschliBelich der 8rE dargestellt



